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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W1
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== Fit vs obs: a=0.65, b=398.42, r=0.76
3500 o °
2000 A
3000
2500 1500 4
2000 - @
o
1500 A 1000 1
1000 -
500
500 -
0 _ O i 0‘ °
0 50 100 150 0 500 1000 1500 2000 2500
baiA baiB Fit
o 2. 561 0. 0256 1o
0.8 0.8
0.6 0.6
0.4 1 0.4
0.2 A 0.2 A
0. 0 T T T T 0 0 T T T T

0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0



hour

10:
11:
11:
12:
12:
13:
13:
14:
14:
15:
16:
16:

0 0 N o O

100

80

- 60

- 40

§_



PE6AW

BrE | GEBAK @) | ERE(EA/H | BEBREREB/R) | XS R

07:45 286 160.0 0.314 |Z=| FhHRe07:45 KHEIEF (RAHEREEE)
08:20 286 160.0 0.314 5| FiHAe08:20 KREHIEF (KEAERSE)
08:55 286 160. 0 0.314 E|  FMHB@08:55 KIENFERF (RAMREEE)
09:30 286 160.0 0.314 |Z=| FiHR@09:30 KEF2F (RAFEREE)
10:10 286 160. 0 0.314 |Z=| Fif#Ae10:10 KREEF (RAEZEE)
10:45 286 160.0 0.314 (Z=| FhHA@10:45 KEIEF (CGRAMHEEE)
11:15 286 160.0 0.314 BH| FhHAe11:15 KEIEF (REAERSS)
11:45 286 160.0 0.314 PA| ThfAe11:45 REERF CRAGRS)
12:15 286 160.0 0.314 FR{ ThHRe12:15 RHMIEF CRALES)
12:45 286 160.0 0.314 BH| FhHAe@12:45 KEIEF (REAHEREE)
13:15 286 160.0 0.314 PR FHAe13:15 REERF CRAERSE)
13:45 286 160.0 0.314 FR| FhHR@13:45 RHMIEHF CRAKZESR)
14:15 286 160.0 0.314 FH| FnHf@14:15 KRFEF CGRAERS)
14:45 286 160.0 0.314 FH| FhHA@14:45 KEEF CGRAEESE)
15:20 286 160.0 0.314 |/hf| FhHRe15:20 kHEF2F (RAEREE)
16:00 286 160. 0 0.314 |/\A3| FHB@16:00 KREFEF (REAERE)
16:45 286 160. 0 0.314 [/MAI| FhHA@16:45 KREIEF (KAEEE)
=it 4862.0 (170%) 2720.0 3 PHIKEC: 2290, PH: 6.5

FREVEIN S Kt i&PH 6.5

#H[EKRECE (2153.0 vs 4333.0) 15

RAE Y S REREC 2288.0




ET (ml/hr/plant)

P6AW W1, Day=70 (2025-06-14)

VI, VOISRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET

1300
083

23

00

2281

T
N
o
o
o

- 1000

FRV (ml d-1)

00

=1
e
o

o
N
FRV (ml plant-1)

optEC0=3357. 0, setECB=2290

optPH0=6. 5, setPHB=6.5

300 1 ByWoFv ®D70 02:04: ET=2281 Fg=2720.0 Ro=400.0
yWoFv @ 104 g ) o .
200 - i
I -1r/l//
1
100 A : @ I I
1.0 , —— <

3 4 5 6 7 8 9 10 11 12 13 14

- 4000
7

- 3000
- 2000

- 1000

cumET (ml/plant)

18

19

20

21

22

23

2
vl BB | % 257157127157 152| % 5= %20 | W | W | &

Ly

T

T

T

i

T

0.6 1

0.4+

0.2~

0.0

800 A
600
400 ~

200 -

\ A A WarRing: "PPFD_obs’] is missing
0

25
20 -
'Toobs' ] is missing

15 - ning:—col['T

100

80 A

60

—— RH Warning: col ['RH obs’, 'RHo obs’] is missing

0.6 1

0.4+

0.2~

00 T T T
0.0 0.2 0.4 0.6

0.8

1.0



hour

100

00 -
05 -
10 - 80
40 -
145 - 60
145
145 - 40
145
140
20
:35
:30
-0
% <$’ % ”% R " % \?>
g %* A & Sl ig %F 4 Y %
%) I} 2N Qs \ ) y %
% % %’ %%" &’é' %\ _@{% ’;é\

%
’%’ N



P6AW

BYiE) | GEBIATK () | EHME (EH/H) | EBRERE (B/R) | XK R

07:45 291 160.0 0.314 |2 =| 1Ri%e07:45 Bz (REAZBE)
08:45 291 160. 0 0.314 |Z=&| 1BRi&e08:45 Bzl (RAERERE)
09:45 291 160.0 0.314 |Z=| 1Ri%e09:45 Bz (REERSE)
10:45 291 160.0 0.314 FA| {Ri%@10:45 Bz (GRAERE)
12:40 291 160.0 0.314 FA| 1BRi%@12:40 B3h (RABIERSE)
13:35 291 160.0 0.314 FA| {Ri%@13:35 Bz (GkAEEE)
14:30 291 160.0 0.314 FA| {Ri%@14:30 Bz (GRAERE)
23t|2037.0 (7% 1120.0 EGHKEC: 2290, PH: 6.5

AREHTERRA (0.91) , BEE

TeREHLERE STHRERT (276.0 :

BRIASERRIERL154. 0 ml.
IREVE S K &RPH 6.5
#[EKECE (2097.0 vs 4217.0) 35
REIE NS KIFHIKEC 2288.0

154.0), AJEEKRBEERE




P6AW W1, Day=69 (2025-06-13)

150 1y, VOIFRY, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 2190
- 2000

100 -

1200 1300 244
81 66 1000
50
23 Warning: lcol [FVI',| "FVO’'] missing 23
46 - I
( v — MW p
44 -

maxM

142

MW ]

FRV (ml plant-1)

40 -

136

0.8 A
0.6
0.4+
0.2~

Warning: lcol ["WC1',  "WC2'] missing
0.0

optEC0=3214.0, setECB=2290 ——  ECB*10% f
2400 ® ECC

2200

2000 -

optPHO=6. 5, setPHB=6.5 —>—  PHBx10% [
® PHC

7.0

T S e -

X
X
y

oX
X
X

6.0 -

600 1| !
Bylnit @D7O 02:04: ET=1442 Fg=1600. 0 Ro=209. 0

1 - 2000

400 -

0

200 - 1000

ET (ml/hr/plant)

1 2 [ 3] 4[5 [ 678 o Jiwo[mn[i12]18[14]15]16]17] 18] 1920721 22T 23
PR | BA [P | BA | B8 [ FH | BA [ BA [ BA [/ [vm |/l | [/ |l D@ [m Dl Dm W |IE | ZE[EE| S

1 B
100 ] ByEt @D69 19:19: ET=1308 Fg=1292.0 Ro=nan 2000

[=2]
o
O
—

200 - 1000

ET (ml/hr/plant)
L J
@
]
(]

i 2 | 3 [ a5 ] 6] 7 [ 89 JoJin[i12]@[14]15[16][17[ 18] 19 [20]21 2723
PR | B BRI [ 2= |2=(Z=(%=| W | BB (A [ | BB | BAR [ [IW|Z=|E=[ K | B | B |[$=

I
400 4 ByWoFy I@D70 02:04: ET=866 Fg=1120.0 Ro=64.0

[=2]
o
O
—

- 2000

£ & &3 |

200 -

ET (ml/hr/plant)

1

P N —
)

> ¢

> ¢

b @

o

1.0
osl A | B [HH | B | MMM IZZ[(ZE|(ZT|Z=( H | BH | BB [H | A [H|ME|[ZF[Z5| B | B | B |2

0.6

0.4+

0.2~

0.0
1500 1 | 4

[ ] | _obs

1000 - —@— PPFD obs

—— RH
60 [} RH_obs-rning: col ["RHo_obs'] is missing

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



44 -

43

42 -

41

40 ~

M_W

500

660 760 860
m=650,n FV0=0

T
900

43.5 A

43.0 -

42.5 -

42.0

—— MW

650

T T
655 660

m=915,m FV0=0

44.50 ~

44. 25 ~

44.00 ~

43.75 A

43. 50 ~

43. 25 ~

—— MW

915

920 925

m=475, FV0=0 m=525, FV0=0
42.5 1 —— nw | 57 —— MW
42.0 -
43.0 1
41.5 1
41.0 - 42.5 1
40. 5 1
42.0 1
40. 0 1
39.5 41.5 1
T T T T T T
475 480 485 525 530 535
m=785,m FV0=0 m=830,m FV0=0
—o— MW —o— MW
43.0 1 435 4
42.5 -
43.0 1
42.0 -
42.5 1
41.5 -
42.0 1
41.0 -
. 1 . 41.5 +— .
785 790 795 830 835 840

43.

43.

42.

42.

44.

43.

43.

42.

42.

m=585, FV0=0

——

M_W

585

T T
590 595

m=870,m FV0=0

——

M_W

870

875 880




hour

100

80
8:05
9:05 I - 60
14:25 I
1 1 1 1 1 1 1
) WA WA gy 7S N P
g)‘% ’;8“ ) ng ‘%‘% %ﬁ\' §s§ | ‘%‘% | ,?“K o &,&\ \é%( B $ ?\}f'

S B F B

S )
-:i%'\ B\ g



P6AW

BfiE) | GEBATK (7)) | ERE (EH/f) | ERERE (/R | XS e

08:05 320 160.0 0.314 FA| 1Bzi%@08:05 B3zh (KRR
09:05 320 160.0 0.314 FA| 1BRi%@09:05 B3h (FKAB{EREE)
13:25 320 160.0 0.314 FA| {Ri%@13:25 Bz (GRAERESE)
14:25 320 160.0 0.314 FA| 1BRi%@14:25 B3h (RABERSE)
15:25 320 160.0 0.314 |Z=| {Ri%e15:25 Bz (GGREEZERSE)
2it]1600.0 (5%) 800.0 ZHKEC: 2290, PH: 6.5

WL HERIREmA (0.9

EREBRRRLFERA (1.02 vs 0.9)), AIEEHR % @EEREIERK

, BT

MERRHLERE STAEART (327.0 : 96.0), AJEEKEZTERE
LOREBRTC R IR R E Y (320 vs 533.0))

ZRIASLPRIERE96. 0 ml.
REE NS KIFHRPH 6.5

#EEIRECE (2057. 0 vs 4220.0) 503
FRAE NS KFHREC 2288.0




190 1v1, V%RV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET [ 4000
100 12500 ®
2133 £
850 - 2000 _
50 1200 913 &
67 Warning: [col ['FVI',| "FVO’'] missing 23
W 400
: ™M 00 L
M ©
r
- 200 _
________________________________________________________ \E/
L 100 2
L
0
4
0.8 4
0.6 A
0.4 4
0.2 4
Warning: [col ['WC1’, "WC2'] missing
0.0 ®
2400 | OPtEC0O=3143.0, setECB=2290 —>—  ECBx10% !
® ([ ] ECC
2200 A o
(]
* ¢ > N X
2000 A °
N .l
optPH0=6.5, setPHB=6.5 == PHBX10%
7.0 - ] PHC
6.5 F—————————————————————— ¢ B¢ > ¢ R e P LRy
{ { { ¢ (]
6.0 -
400 1 — 4
~ Bylnit @D70 02:05: ET=2668 Fg=3040.0 Ro=481.0 4000
5 300 - ! 5
= - 3000 =
N S
< - 2000 S
E —
~ [FE]
= - 1000 5
4087 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
= 22 22122 W | B | B | W (225222122122 125122|22123225222123222 21 B [ B [ B |00
c 1 c
= 30071 ByEt @D68 19:28: ET=1393 Fg=1120.0 Ro=nan ] - 3000 <
N ~
§ 200 4 i L 2000 €
E I o
il W - 1000 §
1] 1 o
\: 0
4087 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
= 2222|225 W | B | W | W B | M| W (22|22 Am| B | B 25|25 55 B | B | B &m0 &m]| 4000
c 1 c
= %991 ByWoFv ®D70 02:05: ET=913 Fg=800.0 Ro=130.0 L 3000 =
N ~
£ 200 A i - 2000
& i . 2
100 1 :  e— a— | - 1000 5
I \
1.0 0 1 2 3 4 5 6 T 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
0lBZE|B= B B | B | W [ B | B | W B |ZalBn|km| B | B =552 B | B [ B [A6|[ AW AW
0.6 A
0.4 4
0.2 4
0.0
—_— 4
1000 o | _obs

P6AW_W1, Day=68 (2025-06-12)

151 * ® VP

—@— PPFD_obs

RH
RH_obs
RHo_obs




44

42 4

40 -

38 -

36

—O—

M_W

660 860
m=625,n FV0=0

T
1000

44.0

43.5

43.0

42.5

42.0

41.5

—o—

M_W

625

630 635

m=405, FV0=0

40

39

38

37 A

36

35 A

——

M_W

T
405

4%0
m=850,n FV0=0

T
415

43.5 A

43.0 A

42.5 -

42.0 -

41.5 A

41.0 A

——

M_W

T
850

T
855 860

42,

41,

41.

40.

40.

44,

44,

43.

43.

42.

m=485, FV0=0

—O—

M_W

T
485

4é0
m=890,n FV0=0

T
495

——

M_W

T
890

895

900

m=510, FV0=0

43.5 A

43.0 -

42.5 A

42.0 A

—— MW

T
510

T T
515 520

m=975,m FV0=0

44.0 -

43.5 A

43.0 A

42.5 -

42.0 A

41.5 A

—— MW

T
975

980

985




hour

100

8:35
80
10:30
11:55 60
13:10 40
14:30
20
16:05
-0
% N
& ¢§




PE6AW

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS ERE

08:35 320 160.0 0.314 = {RRiB008:35 Bz (RFAEEE)
10:30 320 160.0 0.314 El 1BRi%010:30 Bz GGRAEREE)
11:55 320 160.0 0.314 = RRiB@11:55 B (REAEESE)
13:10 320 160.0 0.314 Sl {Rige13:10 B3 (RAERSE)
14:30 320 160. 0 0.314 E| {Rig014:30 B3h (GRE{ERSE)
16:05 320 160.0 0.314 F BRige16:05 Bz (GRAERSE)
B4t 1920.0 (6%) 960.0 ZHIKEC: 2290, PH: 6.5

WAFERERA (0.9) , BEE

FeREHLERE STHAEART (301.0 :
ORI R H AR B2 (320 vs 533.0))

2RI\ LBRERE96. 0 ml.

BBV S RIFEMPH 6.5

##[EKECE (2060.0 vs 4190.0) d 5
IRENE Y 4 Kt REC 2288. 0
ERGEBIEC (1928.0) SiEEIEIN (2290) RERK, FRE.

96.0), AIREKRBERME




150 1y 1 v#PPRV, ET = VI, VO, FVI, FVO, FRV, adjFRV, ET 4204
- 4000 ~
|
100 °
L 2
50 344 000 =
337 931 L
67 Warning: [col ['FVI',| "FVO’'] missing 67
0 4 -0
[r— 1
45.0 vi ~
FRV L 300 T
+
— 42.5 - 5
z. L 200 o
T4 T4 S IS =
275 - 100 z
35. 0 0
4
0.8 -
0.6 -
0.4 -
0.2 -
Warning: [col ['WC1’, "WC2'] missing
Ve e e e e e m e e e e e
optEC0=3071. 0, setECB=2290 —¢—  ECB*10%
2200 - ® ® ECC
® () o Py
2100 - 3 ; e ; v 'as Ve
Y [ (]
2000
o
1900 - °
7.0y optPHO=6.5, setPHB=6.5 o o ——  PHB*10% P
@ PHC
6. e N ——————— —— ]
o0 o6 0 o o
6.0 -
: 4
—_ Bylnit @D70 02:05: ET=3053 Fg=3150.0 Ro=229.0 " 4000 ~
£ 400 - i =
= : - 3000 5
< : L 2000 E
= 200 A 1 —
= 1 wl
— I L 1000 5
L 1 o
1
0 o Al S 0
0 1 2 3 4 5 6 7 8 9 [ 10 | 11 [ 12 13 [ 14 [ 15 16 [ 17 [ 18 [ 19 [ 20 | 21 | 22 | 23
o~ 400 g | B5 | BB | B5E | BB | BB [ B | BE | BE | BR 5 5 i 5 5 5 5 5 5 5 5 5 | %= | %7 [4000
c E 1 c
© — — _ ©
= ByEt @D67 19:33: ET=2523 Fg=2240.0 Ro=nan : 3000 3
< : L 2000 E
= 200 - 1 |_
= 1 1]
— ! L 1000 5
Ll [&]
0 F'S F'S a P’y P’ 0
0 1 2 3 4 5 6 7 8 9 [ 10 | 11 |12 [ 13 [ 14 [ 15 [ 16 | 17 [ 18 | 19 [ 20 | 21 | 22 | 23
o~ 400 g | B5 | BE | B5E | BB | BB [ B | BE | BE | B 5 5 i 5 5 5 5 5 A EXAEFS EFI EFIEFS R0
c E 1 c
© . . — — — ©
s ByWoFv @D70 02:05: ET=931 Fg=960.0 Ro=149.0 - 3000 ¢
< : L 2000 E
= 200 A 1 —
5 | —o—o—o 1000 3
1
1.0 PN al P P PN P — 0
0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 | 14 [ 15 | 16 | 17 [ 18 | 19 [ 20 | 21 | 22 | 23
osl B | 5 [BF [ RE |5 | ”5 [HE [ RE | RE | R 5 5 5 5 5 5 5 5 RERE A ERREEREERS
0.6 -
0.4 -
0.2 -
—_
® | _obs
—@— PPFD_obs
60
Ao
— RH
40 o RH_obs
20 o RHo_obs
W" e v ft

P6AW_W1, Day=67 (2025-06-11)




43.

42.

42.

41.

41.

40.

45.

44.

44

43.

43.

42.

46.

45.

45.

44.

44,

43.

m=510, FV0=0

401 —o— MW
39
38
37
36 -
T T T T T T T T T
500 600 700 800 900 1000 510 515 520
m=625,m FV0=0 m=665,m FV0=0
0 —— MW —— MW
43.5
5 -
43.0 -
0 42.5
5] 42.0 -
0 - 41.5 1
5 41.0
T T T T T T
625 630 635 665 670 675
m=755,m FV0=0 m=795,m FV0=0
0 -
—— MW | 450 —— MW
5 -
44.5
.0
44. 0 -
5 -
43.5
0 -
43.0 -
5 -
T T T 42.5 - T T T
755 760 765 795 800 805
m=890,m FV0=0 m=920,m FV0=0
0 —o— MW —— MW
46. 0 -
5 -
45.5
0 -
5 - 45. 0 -
0 44.5
5 -
. 44.0 1+

895 900

920 925 930

42.

41,

41.

40.

40.

39.

39.

44.

43.

43.

42.

42.

41.

45.

45.

44.

44,

43.

46.

45.

45.

44.

44.

m=540, FV0=0

—— MW

5&5 5%0
m=700,n FV0=0

—o— MW

i

765 7%0
m=820,n FV0=0

—— MW

8&5 850
m=975,n FV0=0

820

-— MW

7

975 980 985

42.

42.

41.

44,

44

43.

43.

42.

45.

45.

44,

44,

43.

m=585, FV0=0
—— nw
5 .
0 .
5 .
585 590 595
m=725,m FV0=0
5 1 —— nw
.0
5 -
0 .
5 .
725 730 735
m=855,m FV0=0
;| —— nw
0 .
5 .
0 .
5 .
855 860 865




hour

8:35

10:40

12:15

13:35

14:55

20:45 -

100

80

60

40

20



P6AW

BfiE) | GEBATK (7)) | ERE (EH/f) | ERERE (/R | XS R

08:35 300 160.0 0.314 F  1BRi%e08:35 Bzl (RAERE)
10:40 300 160. 0 0.314 = RiB010:40 Bah (RAEESE)
12:15 300 160.0 0.314 =l RiBe12:15 Bz (REAEEE)
13:35 300 160.0 0.314 E BRi&e13:35 Bz (GRAERESE)
14:55 300 160. 0 0.314 E| {Rige14:55 B3h (RE{EREE)
Bit| 1500.0 (5%) 800.0 3ZHKEC: 2380, PH: 6.5

WAEERERA (0.9) , BEE

FeREHLERE STAAEART (286.0 :
EOREBAHC R F AR B 328 (300 vs 533.0))

2RI\ LBRERE90. 0 ml.

BBV Y S RIEMRPH 6.5

RE X 1 [B] R ECHIIE R <

#[ERECZE (2120.0 vs 4380.0) 5
BBV IS K FHREC 2376.0

90.0), AIREKRBERME




150 1y, VO, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 4501
3584 - 4000 ~
|
100 - 9700 °
E
44 -
49 Warning: col ['FVI’, "FVO'] missing 67
00
0 -0
( o v —_ MW P _
40 FRV maxM _[ 300 =
t
— ©
= F200 o
= P ——r———————— g e ol el g (] et R e e ol e [ = o e ol = = = ] = e el e e e ——— ————— —
£ 30 A E
F100 >
o
[T
120 0
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
00—
optEC0=3000. 0, setECB=2380 N
2200 - e o ° ® o o
° oo %
PUINE VIS v NS VIS VIR VIS VI VEE VIR VIE VERVEE VIR VI VIR V¢
o °
2000 15— ECB*10%
® ECC °
y °
7.0y optPHO=6.5  setPHB=6.5 —¢  PHB*10%
® PHC
) °
o o
65 t—————— o SR B—————— ]
o ° o
6.0 -
: 4
—~ Bylnit @70 02:05: ET=2292 Fg=2400.0 Ro=203.0 L 3000 ~
*g’ 300 - I E
= | & & =
~ L ~N
£ 200 1 2000 >
\ I ~—
E l 5
100 A i - 1000 ¢
(AN 1 o
1
0 S Al S N 0
0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 [ 14 [ 15 [ 16 | 17 | 18 | 19 [ 20 [ 21 | 22 | 23
2 300 BB | B | KB | B| BB & | B 5 5 | BB 5 | KBS 5 | B5 & & 5 & & & & I 3000
c ] 1 c
% ByEt @D66 19:34: ET=2315 Fg=2400. 0 Ro=nan t o & © %’_
= 200 1 - 2000 >
< E
C 1000 =
100 - e e e E
(NN [&]
0 P FS P P 0
0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 [ 14 [ 15 | 16 | 17 [ 18 | 19 [ 20 [ 21 | 22 | 23
2 300 BB | B | KB | B| BB & | B 5 5 5 5 5 5 5 5 5 | B 5 5 & & I 3000
c . 1 c
% ByWoFv @70 02:05: ET=844 Fg=800.0 Ro=129.0 %’_
N ! L 2000 =
=200 - 1 >
\ I ~—
C : 1000 =
= 1007 1 g e o o o o 5
(AN 1 o
1
1.0 S al PN PN S e 0
0 1 2 3 4 5 6 7 8 9 [ 10 11 [ 12 ] 13 [ 14 15 [ 16 | 17 [ 18 | 19 [ 20 [ 21 | 22 | 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
0.8 4 B B B B B B B B B B B B B B B B B B B B B B B B
0.6 -
0.4 -
0.2 -
[
| _obs
PPFD_obs

P6AW W1, Day=66 (2025-06-10)




T T T
600 800 1000

m=620,m FV0=0
—o— MW
35
34
33
620 625 630
m=785,m FV0=0
401 —o— MW
39
38 -
37
785 790 795
m=905,m FV0=0
43.5 — N
43.0 1
42.5
42.0 A
41.5

905 910 915

41.

40.

40.

39.

39.

38.

43.

43.

42.

42.

m=495, FV0=0

26

25 H

24 -

23 A

M_W

560 565
m=675,n FV0=0

36

35 -

34 A

33 -

GéO 6é5
m=815,n FV0=0

—— MW

850 8é5
m=935,n FV0=0

815

-— MW

g

935 940 945

42.

41.

41.

40.

44.

43.

43.

42.

m=530, FV0=0
314 —@— MW
30 -
29
28
27
530 535 540
m=705,m FV0=0
—o— MW
38 -
37
36
35
705 710 715
m=850,m FV0=0
0 —— MW
5 -
o -
5 -
850 855 860
m=965,m FV0=0
0 —— MW
5 -
0 -
5 -

970 975

39.

39.

38.

38.

37.

37.

36.

43.

42.

42.

41.

41.

40.

44,

43.

43.

42.

m=570, FV0=0
34 4
—0— MW
33 4
32
31 4
5%0 5;5 5é0
m=740,m FV0=0
S1 —@— MW
0 -
5 -
0 -
5 -
0 -
5 T T T
740 745 750
m=875,m FV0=0
0
—— MW
5 -
0 -
5 -
0 -
5 T T T
875 880 885
m=1005m FVO=0
—-o— MW
0 -
5 4
0 -
5 -
10b5 10H0 1615



m=1040, FV0=0

—o— MW
44. 25 ~

44.00 -
43.75 -
43.50 -
43.25 -

43. 00 ~

T T T
1040 1045 1050



